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QUESTION 1

When preparing a vSphere host cluster to work with VMware NSX, which two options show VIBs that are installed and
registered with all hosts within the prepared cluster? (Choose two.)

A. NSX VXLAN

B. NSX Distributed Firewall
C. NSX Edge

D. NSX Data Security

Correct Answer: AB

QUESTION 2

If unicast mode is configured for the overlay transport in an NSX deployment, which two statements correctly define the
network support that is required? (Choose two.)

A. Configure NSX High Availability.
B. Layer 2 switching support in the access and distribution layers
C. Layer 3 switching support in the access and distribution layers
D. Configure Jumbo Frame support

Correct Answer: CD

QUESTION 3

How is the Bridge Instance chosen?

A. Itis chosen based on the ESXi host where the Logical Router Control VM is running.

B. It is manually assigned by the vSphere administrator when the distributed portgroup is configured.

C. During an election process among all ESXi hosts. The host with the highest MAC address is selected.
D. The VTEP configured with the highest VXLAN Network Identifier (VNI) is selected.

Correct Answer: A

QUESTION 4
What are three switch features found only on vSphere Distributed Switches? (Choose three.)

A. Network I/O Control

2V0-641 PDF Dumps | 2V0-641 Study Guide | 2V0-641 Braindumps 2/3


https://www.pass2lead.com/2v0-641.html
https://www.pass2lead.com/2v0-641.html
https://www.pass2lead.com/2v0-641.html

P 2L d https://lwww.pass2lead.com/2v0-641.html
aSS ea 2024 Latest pass2lead 2V0-641 PDF and VCE dumps Download

—— https://Pass2Lead.com

B. CDP

C. LLDP

D. SR-IOV

E. Port Mirroring

Correct Answer: ACE

QUESTION 5

Which statement is true regarding deploying NSX over a physical network?
A. OSPF can be used for Management traffic in a Layer 3 fabric design.

B. NSX can implement IPv6 on an IPv4 physical network.

C. Routing is supported on bridged interfaces.

D. VLANSs are not required to separate traffic between virtual machines.

Correct Answer: B
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